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(D#& R AN EEE AR

1) avy)—

2) B

k(0 ck=24N/mm?)

{ 17200 x 9.250
( 3000 X 2000
3.000 X 2000 +
X1 %2

11.040 - 5277 -
( 4400 X 3.500
3900 x 3.000 )
( 3500 X 3.200
3000 x 2700 )

( 145484 + 11.040

0.600 + 9550 X
90.294 x 0.600 +
7150 x 0.400

(a) SAAHEEM(HZ4mh=20m)

H B2 i

(b) SEFHEEM (HZ4mh=20m)

TRERAICIIEESTEER

= 145484 +
= ( 3500 +
+ 3200 ) X
= 9550 Xx 2

= 78340 + 8.347

-1/
+ 3750
4050 X
X3
60.953 ]
-1/
X 0.400
-1/
X 0.400

0400 +
9550 X

11.040 -

3.606 +
0.600

+ 7.150

2

X

2

X

2

2

5.277

7
0

1.875
025 )

0.600

- 60.953 )

150 X 0.400

400

60.856

X4

78.184

3

X

= 3.500
+ 3.200

+ 33.400

90.294

78.340

.606

8.347

2

33.400

x 0400
X 0.400

2.680

2.680

117.407




() BB(EVRL)

X5
N@E(7—F) = 18647 X 0.600 = 11188 m?
3) BiFL
EEERIE = 090294 Htm?’
EEEE M = 78340 Htm?’
T EREE = 33400 #m?’
TR EA I LAEEL TR = 2680 Hm?
48 = 90294 + 78340 + 33400 - 2.680 = 199.354 Htm?’
4) gk GRETEI&KY)
F53 i = B g = =
D32 ke - SD345
D29 kg - "
D25 ke 7,046 "
D22 kg - "
D25~D16 D19 kg 677 "
D16 ke 1,640 "
B kg 9,363 7
D13 kg 211 "
=1 kg 9,574

%1 :DIla-FETE A >/ \—MEAI (525D

%2 Dla-FETE A /A\—kar s —k (%5
X3 NZEHETE

¥4 DIla-FETE S A BT E i

%5 Dla-FETEAEE & (7—F)



(1/2)

Q¥ mfELT
A—TUEEI(L ) (m®) F—TUEEHIEE D) (m?)
2B B (m) — — kS
BrEmiE |FHETmEE| IiE BTEiE |FHE@EE ZiE

NO.157+15.000 75.3 5.4

NO.157+13.900 1.100 75.3 75.30 82.8 5.4 5.40 5.9

NO.157+8.700 5.200 0.0 37.65 195.8 0.0 2.70 14.0

B 278.6 19.9




(2/2)

BRL: ZRERBEIMEE (M®)

BRL: R KIEBERBImEL E4mEKiE (m?®)

HEREL . X KERIE1mEKHE (m®)

EE R (m) e
BTETE |[FHEEEl I8 WEiE |FHEE B BER |TFHEEE IE
NO.157+14.400 26.7 16.1
NO.157+13.900|  0.500 26.7 26.70 13.4 16.1 16.10 8.1
NO.157+13.400|  0.500 26.7 26.70 13.4 16.1 16.10 8.1
NO.157+13.400 39.4 24.9
NO.157+8.700 4.700 0.0 19.70 92.6 0.0 12.45 58.5
NO.157+14.400 0.7
NO.157+13.900|  0.500 0.7 0.70 0.4
NO.157+8.700 5.200 0.0 0.35 18
i 119.4 74.7 2.2
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(BB EGE Im bR
=T EE2
- ..1'
_,--""-Fff-f ‘fﬁ -. e
EE L / )
?ﬁ%ﬂi&rﬁluﬁi‘ﬁl P
A=0 3mi
B
F—TARHI - + ®
L=

No. 157+15

ErL
[ ER RN L)

A=26.Tm

HERL
(S NS Il L desk i)
A=8. 0m

.,
. HEL
\\\ (it A 4 AR e )
A=, 4mi

A T8

A=75. 3
. FH=192. 610 L HEE| - FE
A=h. Am
= 753 m’ BRL: RXERIEIMLL =
= 54 m’ SEXIERE 1ML E4miE =

BRAEREImRE =

267 m?’
161 m?’
0.7 m’



No. 157+13. 4

(TOIETHYEEE LIRE

#EL

(VR dmEl )

/ A=26. T
.

BEL
(BA IR InkLEnER)
A=8. 0m

BEL
(B AR Inil EdnkF)
A=8. Tm

HRL: ZAERIEIMLE = 267 m?’
RAIERIETME E4mRiE = 161 m?’



No. 167+13. 4

(2RI EIELAEELNE!

BRL
(B ERRAnLLE)
A=39.4m

B BEL
ii%%ﬁléﬁmmmﬁm (RK R ImsL +dnsk 5]
A=12 6m A=12. 3

HRL: ZAERIEIMLE = 394 m?
BXIERIEImLU E4mEE = 249 m?



(AR R ZEEEIE S HAR L

H2

B1 B2

R1 4.850 HT 9.135635
R2 9.700 H2 1.176844
R3 11.980 61 7.7741969
R4 1.000 62 200814066
B1 4.850 63  62.1443965
B2 3.770037

A = [ m x ( 4850 * x 90 + 9700 2

X 77741969  + 11980 2 X  20.0814066
+ 1000 % x 621443965 ) X 1 / 360
-1 / 2 x ( 9.135635 X 3.770037
+ 4850 X 1176844 )} x 2 = 60.952925
= 60953 m’
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10-1 OMNIE HER

NERHE R

10 (EEHY
1" B b7} % g K % B i % 2 i %
£ &% 1EFTHY

HE Al m3 73.3 73.3
wftaro)—k t=250 m2 73.7 73.7
W7 —FXRT H-200 x 200 = 4 4| b2

H-200 X 200 2 2 2| T
&4 ®5%150% 150 m2 76.4 76.4
F—RhboFL—k  [AKD650x 25 1.2 kg 636.6 636.6
DIEEM L-50 x 50 X 6 ke 4491 4491
Tm5 62cm X 48cm S 1235 1235
Ay IRV L=4.000m ¥:N 8 8| L
FEERMFaYY)—k [t=100 m2 168.8 168.8
RERSMIEAT # B #E8ED22(SD345), L=3.0m x 110 110 [E#E R0
" FRPARILk ¢ 22, L=3.0m N 220 220 (EE# RO




10-1. OB EEHR

I i g7l #a_ 7l B4 #aa & &
s B B F—RbUTL—b AKDE50Xx25%12 kg 636.6 636.6
o g F M L-50 X 50 X 6 ke 4491 449 1
WM7—Fx%XKkI Lk 3 H-200 x 200 A 4 4
T ¥ " " 2 2
WAooy —+k =250 m’ 73.7 73.7
i e ¢ 5% 150 X 150 m’ 76.4 76.4
r o 5 62cm X 48cm % 1,235 1,235
i Al m° 73.3 73.3
Wty —F OO EME t=100 m’ 168.8 168.8
Ay Y2 AR IILE L=4.000m N 8 8
IRER AR A L 4 8i#%58D22(SD345) L=3.0m PN 11 11
FRPARJLE ¢ 22 L=3.0m x 22 22




10-2-1. LR AI Ot #=

(1) F—AF2FL—MAKD 650 x 25 X 1.2)

1) BEHYmiE
A = 2 x 1 x( 5450 x 90° / 360°

4+ 10300 X 10.6300018° / 360° ) X 2
2) &
A = 20944 x 2338
) BEE
W = 48967 x 130 kg/m?

(2) DEEEH(L-50 X 50 X 6)
W=y ( 05 %2 + 12 ) ~/ 1x 05

w ={ 4175 + 0500 ) / 2 + 0559 }
X 35 X 4430

(3) £M>(25 62cm x 48cm)

1) A%E
V = 247 m?’ x 1000

2) Ry
N = 247 m*/ 0020 ©®B/m

@) ffavsy—k (t = 250 )

A = 16336 x 4175 + 3823 X 1450
DIla-F BRE LEHmfav))-t4%E = 16.336 m%*/m
DIla-F BRE TFHEMIV))-I4E = 3.823 m%/m

X JAMEIERAREIY

(5) £#3( 5% 150 x 150)

A = 16965 x 4175 + 3822 x 1450
DIIa-F Wim LH£BH= = 16.965 m*/m
DIIa-F BiEl TH &M= = 3.822 m%/m

X JLAMEIERAREIY

20.944 m?*/m

48.967 m’

636.6 kg

0.559

4491 kg

247 m®

1,235 &

73.7 m’

764 m’



(6) #EAI (b IR IKRHIEFREDIESY)

A = 46657 x 1363 + 20487 X

Dla-F WiE LEHIERIZE
DIla-F WiE THEHIKE

() 7 —FZIFL (H-200% 200 % 8% 12)

£

= 4 H

T# 2 H

(8) Av4HMRILE (L=4.000m)

X ERETRI &Y

46.657 m’>/m
20487 m?*/m

733 m®

4242 ke



O fHERE &
2)#REAIRO

e
o EEARAI- AT 248 Ov oL FRT 14=34.225m 0600
- FHEH]- R - E#- AV ORIV -ZRT 15=36.950m .
. |
ﬁI | A
I
I
2 I
©
~ (& I
SL 15 I
_____________ v______.________._ — o f— . — — ‘
oII T - 1
FH <4 I
| I
Lp= 3675 | |L1=| 0.500
L3 0950
- BIavDU—h-BEKT L6=38.400m
- BT - A2 —bavd)—F L7=39.000m
WOERXA [DIMa—F] No. 155  + 16000 ~ No. 157  + 14400 L=
Ut D= 1: 05
L1= 0500 m
L2=( 1900 + 4850 + 0600 )X 05 = 3675 m
L3= 1900 X 05 = 0950 m
a) LA WA - Oy ORIL -7 —F - S RER
L4= 38400 — 0500 — 3675 = 34225
b) THIEAI- WAt - Oy oRIL -7 —F - SRER
L5= 38400 — 0500 — 0950 = 36.950
c)BI-BiKIER
L6=  38.400 = 38400
BT AN FIER
L7= 38400 + 0.600 = 39.000
e) IAME L3 (AT Ha 2 —~-£48)
L8= 3675 + 0500 = 4175
HIOFERTF (T Far o) —k- &)
L9= 0950 + 0500 = 1.450

0.600

4.850

1.900

38400 m



(9) A2 —kt=100) (T AFF Y] LRI mE)

\ka\s K: %_6 1m\ / /L’\
iy =

11111

| }\ 7777717

) ///////////
it L

[ 1] ] 7 T

X L (1:05)



10-3-2.#& AR EE X

F—R+rTL—F
AKD 650%x25x%x1.2
£
¢5x150x%x 150
witirary y—+k
t=250

DIEEM

L-50 x50 x 6
+05 M7 —FXRT
H-200x 200 x 8 x 12

Dtk

FH=192. 61

05

247 m  (CADXK#&E)



10-3-3.#& = B #Er X

b
3 oy Y, \"ﬁ
e 4'0/05/}%*5/?@
R b 4L L=2609. 000m
+ o5
£-ZbhUTL— b
AKD 650 25 x 1.2
s 600
D% $5x 150 150
DL DI
=250
e M
a
N _
**%*\7 I T\*ﬁgpﬂj H H H‘
D~CLER S~
RN EEREEEN S
wMy—7xer Il |l L NN
H-200x200x8x 12 [ [ [ "l il
(e /e
S AR ERRARE i ¢
i M1
. IRRRRRRRRI N
FHT
o125 |95
DI EH
L5050 x 6
wftarsy—+k

t=10cm, A28 ¢ 3. 2x50 x 50)

F—XkTL—bk L =
‘b RILIBAI (£ ) L =
b RILIBAICF ) L =

(4175

+ 0500) X 1/2

2725 X 1/2
0.950 X 1/2

2338 m
1363 m
0475 m
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UMM E R EXR

% B I’ i 3l # Al 5% B =2 BEHE wmE
BAUER
EELT
T HEHI T8 m3 2748 270
HEHI A m3 19.7 20
TRy T pa
fERET 7377 T m3 125 10
HER W<1m m3 7.2 10
EEEE m2 1.3 11
JnusiEEE|  Jovoig #235cm m2 38.0 38
BARA RC-40 m3 10.0 10
Rimaro)—k 18N/mm2 m3 1.2 1.2
HiET 18N/mm2 m3 2.1 2.1
INRKERT =
fERLT 7377 fat ) m3 94.2 90
HER IM=W<4m m3 59.5 60
W<1m m3 195 20
EEEE m2 40.4 40
flET
7'V AMUEMAE PU1-3008 m 285 29
PU-240 m 273 27 (#= 48
PU5-300A m 12.8 13
15 A ST i 2 2
FE CP1-RC-D300 m 16.7 17
Sk <L T '
GI1-B500 % Uit T et . &L 3 3 |

25 M
B500~-L500-H600

&RT




ERHBIMNEENR

I #&| & Al oA | B e FO|E
T m?® 2748 | 27438

T I |#A—FEHA L/ &= m? 19.7 19.7
&t m® 2945| 2945




(Q)¥RALT

A—TARHI(E ) (m?) A—TREIEE 1) (m?)
ER Bt (m) im%E
ErmEiE |[FEHETEiE| IfE WrmiE |[FHETmEIE| ITE
NO.158+2.300 0.0 0.0
NO.157+15.000 7.3 75.3 37.65 274.8 5.4 2.70 19.7
L} 2748 19.7




BRL
(BAERIE I L Anki)

—A=0t—

No. 157+15

HRL
(B/MERIRdnLLE)
—A=26—7m—

HRL
(BA RIS mELE dnsk)
A8 O

F—T1EHI: T ®

v _T'.‘
HEREL
\ (B AR Ik )

. FH=192. 610

753 m?

54 m?

—h= A
EEl - T8

. A=75.3n

RH - Ba 1
A=5. 4m



JOvOEBET KR

B A W Al B % AL BRE U & W O=E
&
Tyt T
(GE Ju RE T m3 125 125
L/ &= m3 0.0
#BR W<1m m3 7.2 7.2
BRLaVYY—k 18N/mm2 m3 0.0
%+ T m3 45 45 |thTELS
g | m3 0.0
EmEIFE m2 1.3 1.3
PASVL=t A =Dk - #£35cm m2 38.0 38.0
fRAD> 91—k 18N/mm?2 m3 6.89 6.9 | | fA+Ear
EiAary)—k 18N/mm2 m3 6.22 6.2 13.1
RARA RC-40 m3 9.95 10.0
KikENAT Vu ¢ 50 m 0.0
R HH LR LE 44 L34 0.0
Ximaro)—k 18N/mm2 m3 1.19 1.2
HEMT m3 2.1 2.1




EETTEHR O OVIEERE) R A

78 s | B B2 it %
EHTE EERD
R T8 m3 12.5 12.5
el m3 0
BRL W<1m m3 7.2 7.2
BRLIVIY)—k [18N/mm2 m3 0
EL T/ m3 4.5 4.5
e 1 m3 0
EmEF m2 11.3 0.0 11.3




(RARBAMNEIOVIBEARENR) HEEHR

T Ff | Fl Bl | GRS | HAT | S | £
F A5 AR
PERE T 7y s iR T 7 0y o fEbERE| By t=15cm | m® 37.95 | 23.09+14.86
($& % 35cm)
o T t=20cm m 15. 00 9.00+6. 00
JAiA=y 7 ) — K 18N/mm2 m® 6. 89 4.19+2.7
HiAaL 7 ) — b 18N/mm2 m® 6. 22 3. 78+2. 44
HELAM RC-40 m® 9. 95 6. 09+3. 86
Ry —p 18N,/mm2 m® 2. 10 0. 14%15
Kifgav))—h t=10cm m® 1.19 0. 079%15
+ T VEEAT G L +-wb m’ 12.5 7.5+5.0

PR L +-wb m’ 7.2 4.3+2.9




M5 Ay BT 1 &Y YEst

BT vy 7 Ei#tE
& B R - ~HE H = iy H
7 ny ) FEEERE | (LEEATYS D)
7oy fEESE | EEmEE | Al= 1/2X (4. 440+0. 350) X 9. 000 = 21. 555
It R L= = 9. 000 m
Y h= 21. 555/9. 000 = 2.395 m
7oy fEmEAE | 8% 35em | A= (21.555—9. 000X 0. 100) X 1. 11803 = 23.093
HiAav)) -} t=15cm | FIAEHIL= 1/2X (2.566+2.756) = 2.661 m
(MAA S Te) 18-8-40 | EHAHL= 1/2X (2.756+2.838) = 2.797 m
V= (2.661X0.35X0.5+2.797x0. 15) X9. 000 = 7.967 n*
LR P A= 2.838X%9. 000 = 25. 542 n?
HLARS RC-40 V= 1/2X(0.234+0. 428) X (2. 395—0. 350) X 9. 000 = 6. 092 ’
IKEEEN AT VP-50 144 Y L=0.5Tm
N= 23.09/3. 00 8 A
L= 0.57X8 4,560 m
TEmMELLE| BRE L V= 0.378X9. 000 = 3. 402 n®
RN RN L= 9. 000 = 9.000 m
(t=10cm)
27 U— K| 18-8-40 | V= 0.790Xx9.000/10. 00 = 0.711
oy e A= 2.195X9.000/10. 00 = 1. 976 n?
Hff=r s ) — b L= 9. 000 = 9.000 m
27 U— R 18-8-40 | V= 1.360Xx9.000/10. 00 = 1.224 p®
oy e A= 4.500X9.000/10. 00 = 4,050
Ho R #Rc-40 t=20cm| A= 7.500X9.000/10. 00 = 6. 750 m?
5T HAEMER | A= 1/2X (4. 440+2.000) X 5. 369X 1. 11803 = 19. 329 #n?
+T
o Al + V= 8.316X9.000/10. 00 = 7.5 m°
HE L 1 w V= 2.550X9.000/10. 00 = 2.3’




Rl BV ET vy o FEEERE T

[ 224 ]
W 1 1]
DY - 2
TERE RC-40) ¢ L1 bl
AADYHY— \e e
(18-8-40) AN Y Sl
EAawH Y—k e 100 el
(18-8-40) 2 AV/
KikE /4 7 (VP-50) ¢ g -
(15 A /am2 _ 3
(14 FRr/3m2) E L+ T §
(REL) ©
s A 550 |00 B2 Ut
AR A (RC-40) 750 BER
JEBA
9000
E 5369 3631
o 3
g Vv 196. 80 &
N =
g o
3 e
:‘|‘: <
g
719271 < v192. 67
3
AT
A \ At
=
& - i =
v192. 36 = Nv
s e =D
FARE (RC-A0) (18-8-40)

DL=190. 00




A7 ay 7 EitR

R Bk - <11k B X B &
7 ey ) RERERE | (LTS D)
7 ey REEE | EE A | Al= 1/2X (4. 28040. 350) X 6. 000 = 13. 890 m’
R L= = 6. 000 m
S h= 13.890/6. 000 = 2.315m
7 ny 8RS | #E% 35em [ A= (13.890—6. 000X 0. 100) X 1. 11803 = 14. 859 m®
Hikay))-b | t=15cm | JAIAEHIL= 1/2X (2.476+2.667) = 2.572 m
(MREAE T9) 18-8-40 | EAEHL= 1/2X (2.667+2.748) = 2.708 m
V= (2.572X0.35X0.5+2. 708 X0. 15) X 6. 000 = 5.138 m®
HRI A= 2. 748X 6. 000 = 16. 488 p*
HLIARS RC-40 V= 1/2X (0. 234+0. 420) X (2. 315—0. 350) X6.000 = 3.855 i’
KikEN AT VP-50 IR Y L=0.57m
N= 14.86/3. 00 5 AR
L= 0.57X5 2.850 m
HEHEEL | BEL V= 0.371X6.000 = 2.226 p’
K=z ) — b L= 6.000 = 6.000 m
(t=10cm)
a7 Y—R| 18-8-40 | V= 0.790%6.000/10. 00 = 0. 474 n’
it P A= 2.195X6.000/10. 00 = 1. 317
Hig= s ) — b L= 6.000 = 6.000 m
a7 Y—R| 18-8-40 | V= 1.360%6.000/10.00 = 0.816 n’
it e A= 4.500X 6. 000/10. 00 = 2.700 n’
KB BF|RC40 t=20cm| A= 7.500X6.000/10. 00 = 4.500 p’
2T HAEMR | A= 1/2X (4.28042.000) X 3. 481X 1.11803 = 12. 220 Him*
+T
i Hl + B | V= 8.272X6.000/10. 00 = 5.0 m’
HEREL + ® | V= 2.550X6.000/10. 00 = 1.5 m’




Rl BV ET vy o FEEERE T

[ A ]

Wriai [

FiAM
AR (RC-40)
A2 )—F

(18-8-40)
ZAavoy—¢
(18-8-40)
A E /54 7 (VP-50) il
/ ¥
B/ o 4 > 8
(BEX) 2
a=0.31m2 440 | 550 ||100 N\ H#ILHU—
Rt = (18-8-40)
TARA (RC40)
X
6000
§ 2519 3481
v Lo
z 2 v196. 45
2 B
%/
o 3
A F
31
(=]
v 192. 50 & V192,52
1
5 //§M5
8 P / LO!
X g
& 77 210 gevi
V192 17
v192.
- (18-8-20)

DL=190.00




16 AV RBITHMHEHE

K= 7 Y — FE R

183 xpromy— R
(18-8-40)

100

10m4 Y
4 B | Bk - STE L 2V G
W fE A= 1/2X (0. 78340. 793) X 0. 100 = 0.079 m*
a7 J—h 18-8-40 V= 0.079X10. 00 = 0.790 m’
B A= 0.100X (1. 11803+1.07703) X 10. 00 = 2.195 m*

A= 1:0.5 N=  1.11803
B 1:0.4 N= 1.07703




AR TR HE

450100 E®EEaH)—Fk

LAY \.‘ / (18_8_40)
\\ \ )

C)p \ // %
Se il
S TR S
_ 150 t):A14H (RC-40)

10m4 Y
4 PR R - SHE A = Py =
a7 Y —h 18-8-40 [iiTg
A= 0.550X0.350—1/2X0. 450 X 0. 250 = 0.136 m”
V= 0.136X10.00 = 1.360 m’
e A= (0.350-+0.100) X 10. 00 = 4. 500 m°
FEREAT (RC-40) t=20cm | A= 0.750Xx10.00 = 7.500 m®




+THAMEE-1

= Al

A\ \ 1622

y

AN\

91\\'{ 3
ul (32
R L+ (BED) Ak
= # 2
GIEST =
.
‘251 750 !40@ ERLE
1402
10. Om¥4 V)
%W B T 7 X T
AL |
)
Al V= 1/2X (1.62241. 402) X 0. 550X 10. 00 8.316 m’

HEL V= (0.500X0.550—0.100X0. 200) X 10. 00

2.550 m’




T+ T E-2

£ Al

0
o
L U O
-\ | B
<o
EELL(RED) 3
GIZFR) Tz
-
344 750 !40& ERLE
1394
10. Om4 1)
7 | T 5 X R
a7
(Ze480)
o H V= 1/2X (1.614+1.394) X 0. 550X 10. 00 8.272 mw’

HEL V= (0.500X0.550—0.100X0. 200) X 10. 00

2.550 m’




INBKER TERET SR

' Al o Al % Hfp  HE W =
EELTT
R AR b)) m’ 94.2
BERL ImM=W<4m m’ 59.5
W<1m m® 195
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